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b hEl i
ZD BT @D B isthe direct object of Z{ x 5. Please note that “teach/tell X(person)

BL
Y(thing)” is X [Z Y % # =z 5. “Teacher, please teach (tell) me the history of this town.”
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K7 is the direct object of Bl & 5. “Please close the door.”
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‘Enterinto X” inX {2 A % (X = final goal of ‘entering’). “ | took a bath, and then, | went to
bed."
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The expression of prohibition is~ TiZ\V M} £+ A ‘One may not do ...” “ Am I not allowed
to smoke in this room?”
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‘It was cold’ is apparently the reason this person had hot coffee. “l drank hot coffee. Because

it was cold.”
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The expression of permission is ~ T H M YT ‘One may do...” “May I used that kanji

dictionary?”
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Help X (person) with Y(task) isX @ Y % F{x 9. “Excuse me, please help me with my

homework.”
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ERE ERE
‘Sitdownon X’ is X {Z B 2 (X=destination of the action & 23). “Let’s sit down over
there.”
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13.
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K is the subject of £ ¥3, and 23 is the only particle that can indicate subject among the

choices. (We’ll learn more about 73 in Lesson 8.) “I am not going out today. Because my
dog died.”
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When the first T form of Verb describes the manner, it should not be followed by any
particle. “Let’s hurry up and go (Let’s go in a hurry). Because we don’t have much time.”
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The pattern of apology is [the situation for which the apology is made] T, JAEHA.
Therefore, there is no need to insert 2>& or any other particles. “I am sorry for missing the
class / Having missed the class, I am sorry.”
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‘Later’ is #& C. “Shall we see a movie later?”
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*
‘“Turn at the place Xis X % B 755 is (X=place that you move over). Please note that T is

also possible. “Please turn at the corner.”
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